H & 0l & AHS B Ml A

0244 204 LES | =sSEZ M ~ SOHAIE2e| Dt
SN SYEH
mu: sololof Aol A MM
CHel: SQBEAHIA 2E (crel @)
SN - O(BH) - NRAY - BAS 0l Aoy e HIDS2
S 39,858,227 36,395,913 3,462,314
= 1,656,380
= 6,677,000
J| 156,616
= 5,862,790
Al 25,505,441
SEeIo 4ol & I 37,041,764 33,483,816 3,557,948
= 1,656,380
g 6,677,000
J| 156,616
& 5,862,790
Al 22,688,978
SHHIAMHIA 2S 15,656,991 16,618,528 AB1,537
= 666,700
J| 25,674
T 5,573,110
Al 9,391,507
8 FIAE =& 10,035 10,150 A115
201 LEt2HH| 7,335 8,150 A\815
01 A2l 7,335 8,150 AB15
OSYELAZAIY MO HA
20,0002 *B0F *90% 1,440
O=FRPAE 20N HE
15,0002 *802 *90% 1,080
OAEAHE BN HE
15,0003 *70*90% 945
OAEUHE 20N HE
15,0003 x702*90% 945
O#MIAI22AI EDM A
20,000 *5052*90% 900
O H= 40,0003 #4552 ¥90% 1,620
O=OICHH 2H& 3] AL HIZ
4,500 #507H x23| *90% 405
203 PR F=&IY| 2,700 2,000 700
03 A F=AHRFAIH| 2,700 2,000 700
O=YEM HRFA 3,000,000 *90% 2,700
sYE2eE I MEZIH s4 131,474 152,104 A20,630
201 Let2AH| 5,200 5,200 0
01 AtR2teld| 5,200 5,200 0
OS0ilsE U ABM HHUAS EA
=g 100,000 26 *23| 5,200
203 SR F=&IH| 13,500 15,000 21,500
03 A=A HRFXIH| 13,500 15,000 21,500
CEEHEEEES
9,000, 000& *90% 8,100
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ol sEEIAA P2 (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFH=Y SsIFAY dL23H|
13,100,000& 13,100
= 6,550
Al 6,550
202 04| 300 800 A500
= 150
Al 150
01 =LHOLI 300 800 A500
OFHEsY FsHIAMLFE Ol
10,0002 +30&! 300
= 150
Al 150
307 elzto| & 881,430 817,126 64,304
= 617,000
& 79,330
Al 185,100
02 2B YA E X 881,430 817,126 64,304
OHE=R0 AT XK
881,430,000& 881,430
= 617,000
< 79,330
Al 185,100
s Y XZA 273,000 315,000 242,000
402 212t X+=01 & 273,000 315,000 242,000
01 QI XHZ AL E R (KEHITHE) 273,000 315,000 242,000
OBUES HY XA
30,000,000& * 13 *70% 273,000
Ssgol B A2AY 11,298,000 12,810,000 A1,512,000
< 4,519,200
Al 6,778,800
301 2EN= 11,298,000 12,810,000 A1,5612,000
S 4,519,200
Al 6,778,800
14 IIEt2 83 11,298,000 12,810,000 21,512,000
Os9l Bolag X
600,000 *18,830= It 11,298,000
= 4,519,200
Al 6,778,800
sEASHEH 2 80,000 0 80,000
= 40,000
= 12,000
Al 28,000
307 gl2to| & 80,000 0 80,000
= 40,000
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< 12,000
Al 28,000
02 2IZHB A E £ 80,000 0 80,000
OsZESHEEH 2 80,000,000 80,000
= 40,000
< 12,000
Al 28,000
CASR NEA 1,422,000 1,040,799 381,201
= 426,600
Al 995,400
101 @124H| 90,000 0 90,000
= 27,000
Al 63,000
04 JIZtNZ22 XS 2+ 90,000 0 90,000
OEAl=sE XA 90,000
O2gels o1AH((3Y, 120HE)
76,800,000 76,800
< 23,040
Al 53,760
OYHESIIHI(3H) 1,200,000 1,200
= 360
Al 840
OAEEZ (3, 1212) 12,000,000 12,000
== 3,600
Al 8,400
307 elztol & 1,332,000 1,040,799 291,201
= 399,600
Al 932,400
02 2B HAIAE & 1,332,000 1,040,799 291,201
OF AT XA 1,332,000,000& 1,332,000
= 399,600
Al 932,400
Hedsgol disut<xd A2 1,156,000 1,122,000 34,000
== 462,400
Al 693,600
307 212+01& 1,156,000 1,122,000 34,000
< 462,400
Al 693,600
05 2IIRIE =2 1,156,000 1,122,000 34,000
OIS0l H=HISH A
170,00024+6,800H 1,156,000
= 462,400
Al 693,600
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ol sEEIAA P2 (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S0l HNMEH XA 139,638 139,638 0
= 46,546
Al 93,092
307 el2to| & 139,638 139,638 0
= 46,546
Al 93,092
06 28= 139,638 139,638 0
O=gol tMEE I
930,920,000 *15% 139,638
== 46,546
Al 93,092
sSISN =2 2N 81,808 116,736 A34,928
= 16,361
Al 65,447
201 Ler23 | 81,808 116,736 A34,928
= 16,361
Al 65,447
01 Al 22| 81,808 116,736 34,928
OSFAH SeBY RS
91,2013 +8974 81,808
== 16,361
Al 65,447
s8I 22X 22X 11,85 17,653 Ab, 797
= 2,370
Al 9,486
201 er23| 11,85 17,653 Ab, 797
= 2,370
Al 9,486
01 AtR2t2|HI 11,8% 17,653 A, 797
OosYllz 32X M3
78,0003 *152H 11,85
== 2,370
Al 9,486
ZAEHAE 51,350 14,386 36,964
Jl 25,674
s 7,703
Al 17,973
301 EtE NS 51,350 14,386 36,964
7l 25,674
= 7,703
Al 17,973
14 0Bt 243 51,350 14,386 36,964
(OFE LXSESESONE-N 302,063m x 170 51,350
Il 25,674
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SN SYID
. sgolo o 2 e
ol sEdEEE il (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2HE sESal 243
3,942,857,000& 3,942,857
= 2,760,000
Al 1,182,857
STAEHSHAAEY 2,100,000 1,400,000 700,000
[ 1,470,000
Al 630,000
307 212+01& 2,100,000 1,400,000 700,000
= 1,470,000
Al 630,000
05 2ItRIE =2 2,100,000 1,400,000 700,000
OsE HEAZYAA
2,100,000,000& 2,100,000
= 1,470,000
Al 630,000
AN2HEH =t 400,000 300,000 100,000
[ 280,000
Al 120,000
307 212+01& 400,000 300,000 100,000
[ 280,000
Al 120,000
05 2IZtAE = 400,000 300,000 100,000
OAlZHgZ A 400,000,000 400,000
s 280,000
Al 120,000
OFSRFSDI(OIEE QIxtee|) (M EALY) 150,000 250,000 100,000
403 MR HHMSAHE01H 150,000 250,000 100,000
02 SISOt =2 A P E A I 150,000 250,000 100,000
OQIxt2el Ot=e=S0| 150,000,000 150,000
OFSRFSII(O1E S EHHI12]) (R EALY) 150,000 250,000 100,000
403 AXIEHHSAH=201H 150,000 250,000 100,000
02 S 2S0ItH et =& 2 €A ] 150,000 250,000 100,000
OstAI1el OSeED] 150,000,000 150,000
OISRISDI(22/81 Rae])(MeAt) 150,000 250,000 £100,000
403 AXIEHMSAH=0lH 150,000 250,000 100,000
02 SISt 2 S A AIEEI 150,000 250,000 100,000
oRgel =S| 150,000,000 150,000
OFSRtEII(LH=S M22|)(HEAL) 150,000 250,000 100,000
403 AXIEtMSAH=01d 150,000 250,000 100,000
02 SII2ASOITH St =2 A P E A I 150,000 250,000 100,000
OAMln2zel Ot=8t=2| 150,000,000 150,000
OIS EHSDI(LHE RAH2I) (DM EALY) 150,000 250,000 100,000
403 AXIEHHS X201 150,000 250,000 100,000
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B2 =eiolo] 40| A M
ol sEdEEE il (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 150,000 250,000 100,000
O=R4Hel 0SeHSD| 150,000,000 150,000
OIS REEII(S0/g FH22])(HEALY) 150,000 250,000 100,000
403 AXIEHMSA=0ld 150,000 250,000 100,000
02 SISOt =2 A P E A I 150,000 250,000 100,000
OR 2l =S| 150,000,000 150,000
23 OFSEHSD] XS A (HEALY) 900,000 1,200,000 300,000
403 AXIEHHSAH=201H 900,000 1,200,000 A300,000
02 S 2SOt st = & 2 E A ] 900,000 1,200,000 A.300,000
OSatzel OSeHED| 150,000,000& 150,000
(©OF=F=a [ s=1:I—P)| 150,000,000 150,000
O&f0k2el 0=esS| 150,000,000 150,000
OFEcl 0= 150,000,000 150,000
otlscl o=gsS7| 150,000,000 150,000
o8zl OSesSD| 150,000,000 150,000
24 0SS0 A (X EALY) 600,000 600,000
403 AXIEHMSAH=0lH 600,000 600,000
02 SO 2SOt =& 2 EF A I 600,000 600,000
o=&zel =S| 100,000,000 100,000
Oattiiel =S| 100,000,000 100,000
©11=56c 0t=8t=0| 100,000,000& 100,000
Oz=1cl 0S| 100,000,000 100,000
O4ltHzel O=eHsS0| 100,000,000 100,000
Oos4dzel =S| 100,000,000 100,000
LS MO EINE AEES RAEFAY 160,530 169,700 A9,170
201 etz 3| 46,080 49,200 A3,120
01 At 2|l 1,080 1,200 A120
OlldXsEH OIS 28=8
100,0003 122 *90% 1,080
2 352484l 45,000 48,000 /3,000
OXIGINLAIY AIEES MRS
375,000 #4H ~+ 123 18,000
OLetsaHENE AE=E RS
30,000,000 *90% 27,000
206 M=l 1,350 1,500 A180
01 MHZHI 1,350 1,500 A150
o=z 2AES
750,000 x22]+90% 1,350
307 elztol & 53,100 59,000 25,900
05 21t =S 53,100 59,000 /5,900
OlIcHNsZEH0IEE Mg =Y
44,000,000 *90% 39,600
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B2 =eiolo] 40| A M
ool sEdgsEd o (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3ZaEA B4 U 22IBY
15,000, 0002 *90% 13,500
401 Al HIYL S CHYI 60,000 60,000
01 AlZH| 60,000 60,000
OYBSHOIEINL NLS SXBS
60,000,000 60,000
AER T XE=E22HL A (HEALY) 1,123,000 986,572 136,428
403 THXI M SAH=01H 1,123,000 986,572 136,428
02 S 2SS0t et =& 2 EF A I 1,123,000 986,572 136,428
QAT N ESEZ LAY
1,123,000,000& 1,123,000
S0/d X7 sES2 JHIAY 6,723,000 0 6,723,000
= 810,000
< 243,000
Al 5,670,000
403 XIS SAH=01H 6,723,000 0 6,723,000
= 810,000
== 243,000
Al 5,670,000
02 SI12S0ItH et =& 2 €A I 6,723,000 0 6,723,000
S0 HUX T SED2AFHIAY
6,723,000,000& 6,723,000
= 810,000
== 243,000
Al 5,670,000
HFAl SEXNS QA 112,960 0 112,960
= 56,480
Al 56,480
403 MR SHHMSAH=01H 112,960 0 112,960
= 56,480
Al 56,480
02 SISOt =2 A P E A I 112,960 0 112,960
OHZEA SEX YFAHFAEY
112,960,000& 112,960
= 56,480
Al 56,480
SEE)SESAX 2H3H(0I1¥H) 2,295,000 639,000 1,656,000
s 1,607,000
Al 688,000
403 X SHHMSAH=01H 2,295,000 639,000 1,656,000
= 1,607,000
Al 688,000
02 SISOt =2 A P E A I 2,295,000 639,000 1,656,000
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Hel: SEMEEE i (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Ol =341 st (sEas
2,295,000,000& 2,295,000
= 1,607,000
Al 688,000
SEEA)2H I MENEFE XY 400,000 0 400,000
[ 280,000
Al 120,000
403 AXIEHHS =201 400,000 0 400,000
= 280,000
Al 120,000
02 SIS0t =S A AEHI 400,000 0 400,000
029 JEMENET LA (SEF)
400,000,000& 400,000
= 280,000
Al 120,000
SEHA)IEH I ZMENHEIL(2EH) 200,000 0 200,000
[ 140,000
Al 60,000
403 MXIEHHS =201 200,000 0 200,000
[ 140,000
Al 60,000
02 SIS0t =S A A 200,000 0 200,000
OIS I EMENETH AL (SEE
o) 200,000,000 200,000
= 140,000
Al 60,000
SEYEY)GYH I ZMENHEIL(2EH) 200,000 0 200,000
[ 140,000
Al 60,000
403 AXIEHHSA=201E 200,000 0 200,000
[ 140,000
Al 60,000
02 SI12S0ItH et =& 2 €A I 200,000 0 200,000
Og2d JIZMENF R LA (SEE
o) 200,000,000 200,000
= 140,000
Al 60,000
SE) 012 HFSXLH 0l 700,000 700,000
403 MR EHSAHE01H 700,000 700,000
02 SII12ASOITH St =2 X A E A I 700,000 700,000
OUIFY HHTME 0/F(SEE)
700,000,000 700,000
EXgt szl 315,590 376,280 260,690
Jl 130,942
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B3 =eiolo] o] A M
el Bt X2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 184,648
== Mak el 11,700 13,000 21,300
201 fet=23y| 11,700 13,000 1,300
01 AtR2tc|HI 11,700 13,000 21,300
OB B +48 S
1,000,000 1324 %90% 11,700
sXize 13,130 24,840 A11,710
201 el 13,130 24,840 A11,710
01 At2t2ltl 13,130 24,840 A11,710
OsATENAXNF(HB o M) 302
950, 0002 27 At+32]+90% 5,130
O=gYsI =g =&, 0/dZN= 2t &
FEIHI=Z 800,000& %102 8,000
sk?ds 24 103,700 130,900 A27,200
201 =3 103,700 130,900 A27,200
01 At22t2lt] 103,700 130,900 A27,200
OSNARS A 42
100,000 «8H *73| * 1704 A 95,200
O 2t 28|
500,000 % 179K 2= 8,500
sXO0IESAE =A XI& 187,060 207,540 A20,480
Il 130,942
Al 56,118
101 ©1AH| 187,060 207,540 220,480
7l 130,942
Al 56,118
M ORNZZ2NSE S 187,060 207,540 A20,480
OSKOIBAENTA 22T 24 (14 50HE) 187,060
OSTOIBAEIZA 22T +E(142 5HE
) 185,916,800 185,917
) 109,142
Al 46,775
OYESII(14E) 2,800,000& 2,800
Jl 1,960
Al 840
O4U 22 (148 ,500E) 28,343,000 28,343
Jl 19,840
Al 8,503
CsuUFEds 311,836 618,023 306,187
= 123,200
= 46,680
Al 141,956
HSAHES XX Z A 39,800 120,000 /80,200
= 11,940
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Hu: mol0lo] 4o & A
&el: EsuFedst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 27,860
307 gl2tol & 39,800 82,000 242,200
=S 11,940
Al 27,860
02 QB AANSEER 39,800 82,000 N42,200
OZ=0AN A0tED] 39,800,000& 39,800
< 11,940
Al 27,860
HsHE 243t 11,700 13,000 21,300
201 er23| 11,700 13,000 21,300
01 At2teltl 11,700 13,000 1,300
O7= 2tga ot 6,500, 0002 x22| *90f% 11,700
sEMgeitg &0t X2 1,746 1,940 AN194
307 @120l & 1,746 1,940 A1
02 QI AAEE X 1,746 1,940 A194
O=ZENEe0tE I
2,182,500 *1JH 2= +80% 1,746
SZ0[0F] o R 17,940 35,880 A17,940
307 elztol & 17,940 35,880 A17,940
02 LB HAHE L 17,940 35,880 A17,940
SEO0I0R] el X1 ALS
10,0004 %1, 794H 17,940
SESSAMHIAZESXIZ AN 176,000 210,000 /34,000
= 123,200
= 15,840
Al 36,960
307 elztol & 176,000 210,000 234,000
= 123,200
[ 16,840
Al 36,960
02 IHB A HE L 176,000 210,000 /34,000
OsZEsSsSMHIA 2d3t XA 176,000
Osg=8sd 55,000,000 #20H 2 110,000
= 77,000
[ 9,900
Al 23,100
OseExllda==3SH
66,000,000 * 10 2 66,000
= 46,200
< 5,940
Al 13,860
HASAHE SLSK 2SI At 60,000 0 60,000
= 18,000
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SN SYEH
3 FAYE=H
el FEYESH (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-1ELE 31,363,200 *1.75% 549
~SHEE 31,363,200& *1.00% 314
201 fet=23y| 13,985 14,650 A665
01 AtR2tc|HI 13,985 14,650 AB65
O=M «&a =gl 6,650,000 *90% 5,985
OHIAMIEN FAAAS AR =& 8,000
OoFA =g 100,000 x 16 #53] 8,000
307 elztol & 2,425,000 2,425,000
04 CIZHHAMAMH 2 & 2,425,000 2,425,000
02024 FAHYS=N 2,425,000,000& 2,425,000
401 Al HIZ S 0HYI 280,000 350,000 70,000
01 A28l 280,000 350,000 A70,000
O=Nd 22 & 28 =4
280,000,000 280,000
HH2I3H(sLFHL) 62,584 75,062 A12,478
eIE =g 3,298 3,298 0
el =gl 3,298 3,298 0
101 @1A4H| 3,298 3,298 0
02 JIEtAE = 3,298 3,298 0
OARIEEHADIIHI(0FZ) AltI2R+E
9, 1602 x1&+30AI 2+ 123 3,298
J1I=28Hl 59,286 71,764 A12,478
Jl=2&H] 59,286 71,764 A12,478
201 el 25,806 29,164 A3,358
01 At2telt] 25,806 29,164 A\3,358
OJ1=2dR+=#3HI(0I1=3YI)
450,000 x23H 10,350
ozgt(01=2dl)
8,000 x23EH 7L x 12 15,456
202 04| 23,280 32,400 N9,120
01 =LHOLI 13,680 22,800 29,120
O=Uoidl(O1=34l)
20,0003 x19F 32«12 13,680
02 XN 9,600 9,600 0
OFHolHI(sXI22E)
200,000 «4H = 12& 9,600
203 2=l 10,200 10,200
01 D[22 HI S| 6,000 6,000
OJIEAU(42) 6,000,000& 6,000
M FA2SLRFEI 4,200 4,200 0
OJIZEH(2521015t) 350,000 * 122 4,200




H & 0l & AHS B Ml A

0243 20ilat LE SHI M ~ SO AIE 2| 0t
FA etEsat
M ABA=ASHN|L
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sletd3sat 67,204,322 76,362,733 A9, 188,411
= 1,241,110
[ 1,352,000
Jl 29,529,402
< 4,456,693
Al 30,625, 117
setdsgdsdXE 67,169,408 76,317,177 A9, 147,769
= 1,241,110
s 1,352,000
Il 29,529,402
= 4,456,693
Al 30,590,203
tetdsgEy 6,744,213 8,144,826 1,400,613
= 260,690
s 382,000
Il 362,421
= 1,205,573
Al 4,533,529
st dsgIeAEAIY 1,018,000 800,000 218,000
= 382,000
& 318,000
Al 318,000
402 QI”F X201 & 1,018,000 800,000 218,000
= 382,000
< 318,000
Al 318,000
02 QI IH2AILEE (01X THE) 1,018,000 800,000 218,000
Ozt B s eAEAY
1,018,000,000& 1,018,000
= 382,000
== 318,000
Al 318,000
sYsgdEd ozl 450,000 450,000 0
= 225,000
== 67,500
Al 157,500
301 2= 315,000 315,000 0
= 167,500
= 47,250
Al 110,250
14 0Bt 2a3 315,000 315,000 0
Osgede2dZz 18
105,000,000 *3IH 2 315,000
= 157,500




FA etEsat
M ABA=ASHN|L
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 47,250
Al 110,250
307 elztol & 135,000 0 135,000
= 67,500
< 20,250
Al 47,250
02 LB HAHE L 135,000 0 135,000
O=gsaeduz g A48 g
45,000,000 *30H 2 135,000
= 67,500
[ 20,250
Al 47,250
g satE M- KRS X 423,667 566,500 132,833
= 127,100
Al 296,567
402 2IZtA=01d 423,667 556,500 /132,833
S 127,100
Al 296,567
02 RIENEASEZ(0IETHR) 423,667 566,500 132,833
OFBAZMZ Mo RE N
423,667,000 423,667
& 127,100
Al 296,567
ekl 2240l X2 596,000 396,000 200,000
307 elztol & 596,000 396,000 200,000
02 2IZHBHAIHE & 596,000 396,000 200,000
ozletd 2240l XA 596,000,000& 596,000
Zletd 240l SW AFAS 215,117 446,150 ~231,033
=S 64,535
Al 150,582
307 @I2t01 & 215,117 446,150 231,033
== 64,535
Al 150,582
02 LB HANHEE 215,117 446,150 A231,033
Ozlgd 240l s X
215,117,000 215,117
= 64,535
Al 150,582
AT e satE XA 474,240 903,552 N429,312
= 142,272
Al 331,968
301 EetE NS 474,240 903,552 N429,312
== 142,272




FA etEsat
M ABA=ASHN|L
ool detdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 331,968
14 0Bt 243 474,240 903,552 N429,312
UM FBABAS TR
474,240,000& 474,240
== 142,272
Al 331,968
ZSBSME AL SHH =4 8,892 10,880 1,988
307 lztol & 8,892 10,880 1,988
02 2B YA HE X 8,892 10,880 21,988
Ozl sgoltial I
5,400,000 %13] 5,400
OFBASCICH] HEDS X
3,492,000& %12 3,492
et B A X2 365,680 399,360 N\43,680
307 212+01& 365,680 399,360 A\43,680
02 2B HAHE L 365,680 399,360 A\43,680
Ozletd b Mgt K=
975,000& *456ha*B0% 365,680
FISL R X2 A 89,226 117,39 A28,173
= 35,690
< 16,061
Al 37,475
307 lztol & 89,226 117,39 A28,173
= 35,690
== 16,061
Al 37,475
02 LB HANHEE 89,226 117,39 A28,173
ORII=LAM XA 178,452,000 *50% 89,226
= 35,690
=S 16,061
Al 37,475
SIIEHIE XA (HEALL) 1,897,873 1,897,873 0
= 227,745
Al 1,670,128
307 glztol & 1,897,873 1,897,873 0
= 227,745
Al 1,670,128
02 2IZHBYAIHE & 1,897,873 1,897,873 0
ORIIHHIZ XI&(25,006E)
1,897,873,000& 1,897,873
=S 227,745
Al 1,670,128
seFSsIH SFEHH| X& 489,667 511,450 N21,783
< 146,900




FA etEsat
M ABA=ASHN|L
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 342,767
301 EtE NS 489,667 511,450 N21,783
=S 146,900
Al 342,767
14 0Bt 2as 489,667 511,450 N21,783
OTE&ZE=sIH S#Z2HH| X (720ha)
489,667,000 489,667
< 146,900
Al 342,767
ZigdsatE 2ssIt |4 235,334 252,600 A17,266
= 70,600
Al 164,734
301 EtE NS 235,334 252,600 A17,266
=S 70,600
Al 164,734
14 0Bt 2a3 235,334 252,600 N17,266
O EIsHE ASSIH SE ALY (720ha)
235,334,000 235,334
< 70,600
Al 164,734
FINSAS USHIE NE 6,533 9,910 A3,377
= 1,960
Al 4,573
301 eEtE N = 6,533 9,910 N3,377
= 1,960
Al 4,573
14 0Bt 2a3 6,533 9,910 A3,377
SIPDIEAS 2ISHIE K&
6,533,000& 6,533
[ 1,960
Al 4,573
SIS AE T X 41,934 72,500 230,566
= 12,580
Al 29,3%4
307 elzto| & 41,934 72,500 A30,566
S 12,580
Al 29,354
02 QIHEHAIEE X 41,934 72,500 A30,566
ORIIIBAE 2 M A&
41,934,000 41,934
< 12,580
Al 29,354
Rls S HUE R 20 2 A& 16,000 33,800 A 17,800
= 4,800
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FA etEsat
M VIS SEXNE
&Rl NSE AL (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EAMEM S5 K& 968,323 894,961 73,362
= 659,331
== 154,49%6
Al 154,496
307 212+01& 968,323 894,961 73,362
= 659,331
=S 154,496
Al 154,496
02 QB HANEER 968,323 894,961 73,362
OE2MEM X 968,323,000 968,323
= 659,331
= 154,496
Al 154,496
ENEM SS&E X 163,779 108,456 55,323
= 81,889
= 40,945
Al 40,945
307 gl2to| & 163,779 108,456 55,323
= 81,889
= 40,945
Al 40,945
02 2B YA E X 163,779 108,456 55,323
OELNEN sSLZXEAL
163,779,000 163,779
= 81,889
= 40,945
Al 40,945
=4 L MAE] ZEH s4(ns, A4E) X 19,800 27,000 AT7,200
= 11,000
= 2,640
Al 6,160
307 elztol & 19,800 27,000 AT7,200
= 11,000
[ 2,640
Al 6,160
02 2B A HE L 19,800 27,000 A7,200
O=4t & HAeX] M S4(ns,ALE
) N 22,000, 0002 * 17 2-+00% 19,800
= 11,000
< 2,640
Al 6,160
NEtA B =222 IsEs NsEE 8,000 12,000 24,000
= 5,600
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FA etEsat
M ASA=ASHN|L
el sgggery (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,293
OLHEE 73,831,680 * 1% 739
Jl 739
201 er=23y| 30,409 24,600 5,809
Il 30,409
01 At2t2ltl 30,409 24,600 5,809
O=AX=HM =AY 30,409,000& 30,409
Jl 30,409
B IMoisot 3getd X2 729,000 634,500 94,500
S 729,000
301 EtE NS 729,000 634,500 94,500
== 729,000
14 IIEt2d3 729,000 634,500 94,500
OH THEH=It 2 tE X1 (8, 100ha)
729,000,000 729,000
= 729,000
I A5 HHl S22 135,600 251,500 115,900
= 40,680
Al 94,920
402 2IZtA=01d 135,600 251,500 115,900
= 40,680
Al 94,920
02 QI XHE AL E R (01X THE) 135,600 251,500 115,900
OZ=JIH S &Hl S2(108TH)
271,200,000 #50% 135,600
< 40,680
Al 94,920
s)H SEEE K 335,030 335,030 0
= 100,480
Al 234,550
307 el2tol & 335,030 335,030 0
= 100,480
Al 234,550
06 28= 335,030 335,030 0
OsJ1H SE2d NE 335,030,000 335,030
s 100,480
Al 234,550
=42 Mol2& Jt2Hl K& 563,850 383,600 180,250
= 241,650
Al 322,200
307 elztol & 563,850 383,600 180,250
= 241,650
Al 322,200




FA etEsat
M ASA=ASHN|L
el sgggery (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
06 2= 563,850 383,600 180,250
Osx= Mol2d X2 563,850,000 563,850
= 241,650
Al 322,200
sHY &l MblAadE 28 X2 203,000 252,000 A\49,000
s 60,900
Al 142,100
307 21201 & 203,000 252,000 49,000
< 60,900
Al 142,100
02 2B HAHE L 203,000 252,000 249,000
O=% HHAMHIAME 29 X2 (2H4)
203,000,000 203,000
= 60,900
Al 142,100
adst syl ASXE 2,800,000 3,010,000 /210,000
301 EetE2 NS 2,800,000 3,010,000 A210,000
14 JIEt2as 2,800,000 3,010,000 A210,000
oA SO ASXIE
350,000& %8, 000ha 2,800,000
HIZ AIZS3At 2,700 3,000 A300
201 el 2,700 3,000 A300
01 At2telt] 2,700 3,000 A300
OHIZAIZH A 300,000& 102/ *90% 2,700
sELES 4,275 4,750 A475
201 er2 3| 4,275 4,750 A475
01 AtR2telHl 4,275 4,750 N475
OsEZEs)| =8 S|
8,000 95 43 3,040
O=sZELESI| =8 M=
1,235,000& 1,235
$EE s 2l XA 400,000 600,000 A.200,000
402 21>+ X201 & 400,000 600,000 A.200,000
01 QI X2 AL E X (KEMITHE) 400,000 600,000 A200,000
OXEE I=J|Hs FHl X
2,500, 0002 *320CH *50% 400,000
dosIH 528 A 28,000 147,840 /119,840
s 8,400
Al 19,600
402 212+ X=201H 28,000 147,840 119,840
< 8,400
Al 19,600
02 QI TH2AILEE (01X THE) 28,000 147,840 A119,840




FA etEsat
M ASA=ASHN|L
el sgggery (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEESEIEEEE
40,000, 000& *70% 28,000
= 8,400
Al 19,600
sHY AU AHEH XA 250,000 250,000
307 @12t0| & 250,000 250,000
02 QB HANEER 250,000 250,000
O=ZtY B AHIAME XI&AR (301 4)
250,000,000 250,000
B A& sIH XA 60,000 100,000 240,000
= 18,000
Al 42,000
402 2I2F X201 & 60,000 100,000 240,000
= 18,000
Al 42,000
02 QI XHZ AL E R (01X THE) 60,000 100,000 /40,000
03 &8s sJIH N
120,000, 000& #50% 60,000
== 18,000
Al 42,000
sg8 58 N 189,000 210,000 221,000
402 QI>F X201 & 189,000 210,000 /21,000
01 QI X2 AL E A (KHMITHE) 189,000 210,000 /21,000
Oosgs =8 X¥
30,000, 0002 *9CH*7(f% 189,000
HHENENES 665,000 0 665,000
Jl 665,000
301 EtE NS 665,000 0 665,000
Jl 665,000
14 0Bt 2as 665,000 0 665,000
OdHHNENES 665,000,000 665,000
7l 665,000
20l - SEAMSXA 4,750,164 5,932,667 A1,182,503
Il 295,436
= 212,293
Al 4,242,435
ANE&0l ICT 858 &eHAIEES) 135,558 365,894 N220,336
) 48,414
& 17,429
Al 69,715
402 QI+ X201 & 135,558 365,8%4 ~220,336
Jl 48,414
< 17,429
Al 69,715




FA etEsat
3 FsBIEIANE
Rl 20l - SEAISKE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 135,558 365,894 N220,336
OANIEY ICT 858 MHAIEES)
135,558,000& 135,558
Jl 48,414
== 17,429
Al 69,715
AER0 ICT 828 SHa(E2AIE) 160,268 129,067 31,201
Jl 72,849
Al 87,419
402 2IZtA=01d 160,268 129,067 31,201
) 72,849
Al 87,419
02 BIENZASEZ (01 THR) 160,268 129,067 31,201
OAIE ICT B85& S EZAL)
160,268,000& 160,268
Jl 72,849
Al 87,419
AEJ0 ICT 858 SHAHAIZR0IBIE) 249,421 294,771 A\45,350
Jl 113,373
[ 40,814
Al 95,234
402 BIZtAH=01H 249,421 294,771 N45,350
Jl 113,373
s 40,814
Al 95,234
02 I ESASEZ(0IETHR) 249,421 204,771 N45,350
OAIZ20 SHTHSIALS 249,421,000 249,421
Jl 113,373
= 40,814
Al 95,234
0= 110K THEiAlE X 25,000 42,500 A17,500
7l 10,000
Al 15,000
402 BIZtAH=01 A 25,000 42,500 A17,500
Jl 10,000
Al 15,000
02 QI X2 AL EE(0IETHE) 25,000 42,500 17,500
©1= HIJtE MEHAIE XI&
25,000,000& 25,000
) 10,000
Al 15,000
AEZ0 ADE datDgr XA 162,000 168,000 26,000
< 48,600
Al 113,400




SA: ASASAD
HY: AEA=ARLT|
Rl 20l - SEAISKE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
402 QI X201 ™ 162,000 168,000 6,000
& 48,600
Al 113,400
02 QIZEXH2 AL 2 (01 TH &) 162,000 168,000 6,000
OA L0 ADIE MAD|BH XK
162,000,000& 162,000
T 48,600
Al 113,400
NEEa=s |4 110,000 119,000 A9,000
= 33,000
Al 77,000
402 QI2E X201 ™ 110,000 119,000 A9,000
& 33,000
Al 77,000
02 QI EAIE B A (OIMTHE) 110,000 119,000 A9,000
OXIZEEs&S K4(70ha)
220,000, 0003 *50% 110,000
T 33,000
Al 77,000
gel =9 M XA 100,000 179,600 AT9,600
307 QIZt01 A 100,000 179,600 AT9,600
02 QIZHBAAIEER 100,000 179,600 AT79,600
O=cl &8 ZH XA
800,000 x250ha*50% 100,000
ANERJNSE EANEM KA 200,000 214,000 214,000
307 212+01™ 200,000 214,000 214,000
02 QIZtAAAIEE R 200,000 214,000 A14,000
OANLRN=4 ELIHEH K&
2,000,000 *200ha*50% 200,000
ANESIRA HHEg K& 129,000 180,000 A51,000
402 QI R=01H 129,000 180,000 A51,000
01 QIZERH2 AL 22 (REAIH &) 129,000 180,000 A51,000
OAlAsIRA HetE g X2
3,000,000 *86CH*50% 129,000
ANAESIRA AREX XI& 589,500 800,000 A210,500
402 QI X201 ™ 589,500 800,000 A210,500
01 QIZEXH2 A 2 2 (KR E) 589,500 800,000 A210,500
OAIEGIRA AlRAX K&
300,000, 0002 *3.93ha*50% 589,500
ANASIRA EEWM K& A 800,000 1,000,000 A200,000
402 QI X201 H 800,000 1,000,000 A200,000
01 QIZEXE2AIE B A (REMITHE) 800,000 1,000,000 A200,000
OAlIHGtA ZE0NH K&
20,000, 0003 *80ha*50% 800,000




2A:
PSR
ool

A s
L =ASHX
20| - SHALIX

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AESIRA SZIHH XIS 773,500 924,000 A150,500
402 QI”F X201 & 773,500 924,000 A150,500
01 QI X2 AL E A (KEMITHR) 773,500 924,000 /150,500
OAlIEGtRA SZe XA
130,000,000 *11.9hax50% 773,500
o= 2H X2 129,570 200,500 70,930
307 @I2t0| & 129,570 200,500 A70,930
02 QB AANEE R 129,570 200,500 A70,930
OHN=E= 2SH X&E 129,570,000 129,570
DSENRAMA D=ESH X 118,800 165,000 N46,200
307 elztol & 118,800 165,000 N46,200
02 2B A HE L 118,800 165,000 A46,200
OLNZE Hada N+=25H X2
1,000,000 %237 .6ha*50% 118,800
DS E AL SIS KIS 148,500 165,375 A16,875
307 el2to| & 148,500 165,375 16,875
02 2IZHBYAIHE A 148,500 165,375 16,875
OLEE mradat EIHEN XI&
1,500, 000 % 198ha*50% 148,500
==t SA K3 68,803 109,210 A40,407
307 212+01& 68,803 109,210 A40,407
02 LB HANHEE 68,803 109,210 A40,407
Out===It SXI K& 68,803,000 68,803
HASItSY A 70,300 87,000 216,700
307 elzto| & 70,300 87,000 A16,700
02 2IZHBHAIHE £ 70,300 87,000 16,700
OHASIIEY dA&X K&
5002 281, 200kg *50% 70,300
ST A KA 31,920 38,800 6,880
307 @I2t01 & 31,920 38,800 6,880
02 QB HANEER 31,920 38,800 6,880
OgH=x MM X2
1,600,000 *39. %ha*50% 31,920
IsHII= =HE0HH XZA 119,210 136,500 A17,290
307 lztol & 119,210 136,500 A17,290
02 2B YA E X 119,210 136,500 A17,290
Ogs=sHolEg =)0t X
6,500 %26, 2000H*7(f% 119,210
olat WAL K& A 160,000 194,000 34,000
307 @120l & 160,000 194,000 A\34,000
02 QB HANEEX 160,000 194,000 234,000
Oy MAKH XI&
20,000,000 * 16hax50% 160,000




FA etEsat
M ASA=ASHN|L
Rl 20l - SEAISKE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HA datAlE SHst 59,400 52,500 6,900
Jl 23,760
== 10,692
Al 24,948
402 212 X201 & 59,400 52,500 6,900
7l 23,760
=S 10,692
Al 24,948
02 RIINEASEZ(0IETHR) 59,400 52,500 6,900
OBASLAIE Sz ALY
19,800, 0002 x6IH 2= *50% 59,400
7l 23,760
= 10,692
Al 24,948
Qe MAAIE Elist 30,100 10,600 19,500
Jl 12,040
= 5,418
Al 12,642
402 212+ X201 & 30,100 10,600 19,500
Il 12,040
= 5,418
Al 12,642
02 QI X2 AL E R (01X THE) 30,100 10,600 19,500
OCI AL SHIHSIAIS
15,050, 0002 *47H 2 +50% 30,100
Il 12,040
= 5,418
Al 12,642
Ot HEY YAEH A3 61,120 80,000 18,880
=S 14,058
Al 47,062
402 2I2F X201 & 61,120 80,000 18,880
< 14,058
Al 47,062
02 2II2AI 2 X (01X T 61,120 80,000 18,880
Ol CAFY MAHY| X2
61,120,000 61,120
= 14,058
Al 47,062
e S NHAE 43,550 54,500 10,950
=S 11,323
Al 32,227
307 @12t01 & 43,550 54,500 10,950
== 11,323




FA etEsat
M ASA=ASHN|L
Rl 20l - SEAISKE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 32,227
02 QA AAEE X 43,550 54,500 10,950
ONASHSATHXIZ (AL S60ha, &
MEH 5,410m) 87,100, 000& »50% 43,550
== 11,323
Al 32,227
Jlsd L&Y JIgt R EAY 35,625 27,000 8,625
= 10,688
Al 24,937
402 QIF X201 & 35,625 27,000 8,625
= 10,688
Al 24,937
02 QI XHZ AL E R (01X THE) 35,625 27,000 8,625
OJlsd 2y Jlgtxy
71,250,000 #50% 35,625
== 10,688
Al 24,937
QI MatHl 22 JIT 25 15,569 19,600 24,031
= 4,671
Al 10,898
307 elzto| & 15,569 19,600 24,031
= 4,671
Al 10,898
02 2B YAIHE A 15,569 19,600 4,031
O2C| datg 2& I A&
15,569,000& 15,569
s 4,671
Al 10,898
ey NESTH 2 37,000 55,250 /18,250
== 11,100
Al 25,900
307 elztol & 37,000 55,250 /18,250
= 11,100
Al 25,900
02 2IZHBYAIAE & 37,000 55,250 18,250
OQla XHASEM S=(120na)
74,000, 0002 *50% 37,000
=S 11,100
Al 25,900
FTA At A =& I 15,000 25,000 10,000
Jl 15,000
307 @20l & 15,000 25,000 10,000
Il 15,000
02 2B YA E X 15,000 25,000 10,000




FA etEsat
M ASA=ASHN|L
Rl 20l - SEAISKE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OFTA AtRIEI =i XI2
15,000,000 *10H 2~ 15,000
Jl 15,000
SE Mol IIs 28 XE 156,450 105,000 51,450
307 lztol & 156,450 105,000 51,450
02 2IHBHAIHE £ 156,450 105,000 51,450
O%E d=zoild U= 28 X&
150,0002 *14%ha* 102 +70% 156,450
s BEd oA 2E XN 15,000 0 15,000
=S 4,500
Al 10,500
307 21201 & 15,000 0 15,000
== 4,500
Al 10,500
02 LB HANHEE 15,000 0 15,000
O3slsJt 2etd oleA 28 K&
15,000,000 15,000
= 4,500
Al 10,500
SYHULD|BAIE &S 14,616,408 16,767,952 1,151,544
= 138,600
s 970,000
== 1,087,300
Al 12,420,508
A2l A=At (M EALY) 800,000 350,000 450,000
[ 585,000
Al 215,000
401 Al HIZL 201 800,000 350,000 450,000
= 585,000
Al 215,000
01 Al&H| 800,000 350,000 450,000
Ogd Sl HOIRE HE+AtY
450,000,000 450,000
S 270,000
Al 180,000
OF= N+l As+AFHI| £XA
350,000,000 350,000
< 315,000
Al 35,000
SHUUHIS AL 173,200 173,200 0
= 138,600
< 17,300
Al 17,300
201 er23 | 20,000 20,000 0




FA etEsat
M ASA=ASLN|R
Ol SQMAD|BIAIA BHE (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,000
=S 2,000
Al 2,000
01 AlR22IH| 20,000 20,000 0
O34x, 2AD| £ =Yl AR
20,000,000 20,000
= 16,000
S 2,000
Al 2,000
401 Al HIZL R 0HHI 93,200 93,200 0
= 74,600
= 9,300
Al 9,300
01 AlZ2H| 93,200 93,200 0
OsteiEIES=IHE AtHI
93,200,000 93,200
= 74,600
= 9,300
Al 9,300
405 AtatE = 60,000 60,000 0
= 48,000
= 6,000
Al 6,000
01 ML ESFSHI 60,000 60,000 0
0g4)l, 588 54 S Bl
60,000,000 60,000
= 48,000
= 6,000
Al 6,000
SYIIEAIE RREFAS 2,144,662 2,067,476 77,186
201 fer=3| 2,772 41,284 A38,512
01 AtR2t2|HI 2,772 6,436 A3,664
OZEIM=X EXAERZ
231,000& * 122 2,772
401 AIEHIZL S0 2,141,890 1,726,192 415,698
01 Al&H| 2,136,000 1,720,000 416,000
=ClAIE A2y (er2d, 22, 2H0]
Bi==Z, A2, FE2)
750,000,000& 750,000
O=eIANE KA 22 I (M==X, 212, I H
SHEEZ) 650,000,000& 650,000
OsYIIEAIE =FHH & SAIIAMY
200,000,000 200,000
oger2d XotedFESE Szt
12,000,000 *37H 2= 36,000




SN HBE A
Y MHA=ASLK
Ol SQMAD|BIAIA BHE (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=sIIBAIE DIXISEX BA2
500,000,000& 500,000
03 Al 2CHYI 5,890 6,192 A302
O=clANdR X 22|
1,636,000,000& *0.36% 5,890
SEI|EAIE SES A 4,702,000 7,345,890 A2,643,8%0
401 Al HIZL S 0HY| 2,538,000 3,884,370 1,346,370
01 AlEHI 2,538,000 3,874,096 1,336,096
odd R42c| 46581K L& Zi=2 FHIS
AH(L=375m) 200,000,000& 200,000
OO0 Z&2e| 21681X L& =2if+=2 FHIZ
AH(L=300m) 45,000,000 45,000
OO0I& J|ed2e| 47581K 23 22 HHISA
150,000, 000& 150,000
OJte Atthee] L& 2H HulS3 AHL=200m)
100,000,000& 100,000
O 3t M=Xl EL3At
70,000,000& 70,000
OY0l EIMa=Xl ZEE3A
20,000,000& 20,000
O8 T =a2e| 182-32X & == JHl=
AH(L=100m) 60,000,000& 60,000
025 3522 ix=2 HUISAHL=100m)
30,000,000& 30,000
OZU MoKl &E&SAt
20,000,000 20,000
OB B2HAX ELEBA
20,000,000& 20,000
OZU REM=X E&3At
20,000,000 20,000
O=24 S=2| 6918 Xl L& S22 HHI=
AH(L=220m) 100,000,000& 100,000
02z siiel 42 EHIZAHL=100m)
15,000,000 15,000
Oz a2 =2 HUISAL
50,000,000& 50,000
OUl= &l =2 HBISA
150,000,000& 150,000
O=0| DAALRT ZHBN
20,000,000& 20,000
O=0| &xH2el =2 HBISAL
48,000,000& 48,000
OXlss 707HX L& =2 HHIZ2AHL=180m)
30,000,000& 30,000
OXl=ss 85028 X L& Hi+==2 EHISA
190,000,000& 190,000
O=MM=X =¥ =2 =4 A (L=305m)
550,000,000& 550,000




SA: ASASAD
3 FsBIIANE
Gl SHMAD|BAIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
og4d Xare| 2 W2 a=Ar (L=5m)
250,000,000 250,000
O22 &tk 2+FAt
250,000,000 250,000
O22 ots= M=Kl Ex=3At
150,000,000 150,000
403 AXIEHMSAH=01& 2,164,000 3,461,520 1,297,520
02 SISt 2 S A AEHI 2,164,000 3,461,520 21,297,520
OsOHESARZCITS JIgAlE RXA2eld]
1,200,000,000& 1,200,000
OAEs 7918 23 =2 ALY
300,000,000 300,000
OXEX T A2 SHAELA
94,000,000 94,000
O=0l =2¢cl 6502 23 == IJBIAY
180,000,000 180,000
Ogd Jtscl 31l 22 =2 ZHIAIE
90,000,000 90,000
O2F =e| 528X 22 =2 FBIAY
200,000,000 200,000
OE=X7 AS2el| 100,000,000& 100,000
JIStidl s88= JIBtAlE 3 267,000 503,600 N\236,600
401 AIZHIX R0 267,000 503,600 N\236,600
01 AlZ2H| 267,000 500,000 A233,000
02F dMcl =& EXISA
267,000,000 267,000
SYE eH2E JHEAY 120,000 603,780 A\483,780
401 AlEHIZ SO 120,000 603,780 A\483,780
01 Al&HI 120,000 600,000 480,000
O0IH JISX 7 Ser2d LS AL
60,000,000 * 194 2 60,000
O=0| =sAl7 er2d HLSA
60,000,000 *1IH £ 60,000
sEIIPAE FX2tel 231,546 361,006 A129,460
201 et 3| 231,546 301,006 69,460
01 At22t2l] 225,950 289,800 263,850
OZti+==Z Hdl ZHIXt
650,000 *300CH 195,000
OsgIIEAE |SA2HCE Xt LIt
900,000 * 12 10,800
OEZEM MX 2 160,0002! 150
OSHHLIEIAIE (SX1) 2Ll A DTS}
A E 20,000,000 20,000
2 352484l 5,5% 11,206 N\5,610
O2F S2M+A =78 AE6E AIS=
1,250,000 %12 1,250




A A SL
HY: A= ARLT|
Gl SHMAD|BAIE &5 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O=RN(8¥s, H48) HEE
150,000 *20H £ 300
Oxg 7=l 1,599&*112| & +230 4,046
2l H=elAld 23| 125,000 70,000 55,000
201 B2 AL 125,000 70,000 55,000
2 S=29| 125,000 70,000 55,000
O=clAH=cNE2gBI(&D]52, Sldl)
125,000,000& 125,000
SMXT ARE Hiz=HE AN 3,000,000 2,608,000 392,000
401 AIEHIZ20HYI 3,000,000 2,608,000 392,000
01 Al&HI 3,000,000 2,608,000 392,000
O=24 K7 A8 =0 ALS
3,000,000,000& 3,000,000
25| THOHRIEHE X7 ZHIALS 1,940,000 1,590,000 350,000
s 970,000
& 485,000
Al 485,000
403 XX SHHSA=01H 1,940,000 1,590,000 350,000
= 970,000
= 485,000
Al 485,000
02 I/ 2SOHet A2 & I EAIZ I 1,940,000 1,590,000 350,000
Ots| MollIEME X HEIAFS
1,940,000, 000& 1,940,000
s 970,000
= 485,000
Al 485,000
SHMAD|BIAIA QHEE 458,000 0 458,000
401 AlEHIL 2] 100,000 100,000
01 Al&H| 100,000 100,000
OEZMAN S Jh4 HLUHALR
100,000,000 100,000
403 REXISHHIS K201 & 358,000 358,000
02 I 2SS A2 X | ELAIS I 358,000 358,000
OXM==X CHHMEAE (1550 4)
358,000, 0002 358,000
=X 012 HE 28 S 600,000 600,000
401 Al&BI L= ChY| 600,000 600,000
01 Al&H| 600,000 600,000
OHEA Hh4II=N (53X) 28 B
600,000,000& 600,000
M=K = =IO N2AHE =8 29 55,000 55,000
401 AlEHIZ 20| 55,000 55,000
01 AlEHI 55,000 55,000




FA etEsat
M ASA=ASLN|R
Chol: mQIMAD|BIAA &E (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ON=A =% =040l M=HE 8 S
55,000,000& 55,000
dY2IFHI(2 Bt 34,914 45,556 A10,642
J1I=23sl 34,914 45,556 10,642
JI23Hl 34,914 45,556 /10,642
201 =3 19,074 21,55 N2,482
01 At2t2ltl 19,074 21,5% N2,482
OJlzdRsdes 3H(OIE3HI)
450,000 17 7,650
ozgt(01=2dl)
8,000 x 1772 x 122 11,424
202 04| 12,240 20,400 A8,160
01 =LHOHI 12,240 20,400 A8,160
O=UoiblI(O1=3Hl)
20,0003 x17H+32 « 12 12,240
203 HR=H] 3,600 3,600
M EAEER=AH 3,600 3,600
O©J1E2 (202! olat) 300,000& * 122 3,600
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301 LPENZ 273,000 296,700 223,700
& 81,900
Al 191,100
14 JIEt2 43 273,000 296,700 A23,700
OBILAM 2A5H(10,645)
273,000,000& 273,000
= 81,900
Al 191,100
SOtXI At OHEHIAMY 200 500 A300
& 60
Al 140
301 LPENZ 200 500 A300
T 60
Al 140
14 J|Et2 A2 200 500 A300
OSOtKIMACHE T 20,0003 *205*50% 200
& 60
Al 140
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=3t 0laAl=E XIZ 6,300 9,900 23,600
= 1,890
Al 4,410
301 EtE N = 6,300 9,900 23,600
= 1,890
Al 4,410
14 0Bt 243 6,300 9,900 23,600
OBt +HBO0IA AlsZ
150,000& *705=*60% 6,300
== 1,890
Al 4,410
KNsg WHiAIDI EXID1 K& 9,600 19,200 29,600
= 2,880
Al 6.720
402 QI2F X201 & 9,600 19,200 29,600
= 2,880
Al 6,720
02 QI XHZ AL E R (01X THE) 9,600 19,200 29,600
OXlsg whiAIDl X191 X
19,200,000 *1=+50% 9,600
== 2,880
Al 6,720
ISHHYENESS 27,075 30,000 A2,925
= 5,415
Al 21,660
301 EtE NS 27,075 30,000 N2,925
= 5,415
Al 21,660
14 DBt 2 a3 27,075 30,000 A2,925
ONSUHT HAFY 22
15,0003 %3,6105+50% 27,075
== 5,415
Al 21,660
ASHE (ST )AL 31,800 33,900 A2,100
S 9,540
Al 22,260
301 LEtE N = 31,800 33,900 22,100
= 9,540
Al 22,260
4Bt 2 a3 31,800 33,900 2,100
OAMs eE=d ANz A3
600, 0002 *1065=*50f% 31,800
s 9,540
Al 22,260
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402 212+ X+=01 & 10,000 20,000 10,000
= 3,000
Al 7,000
02 QI XHE AL E R (01X THE) 10,000 20,000 10,000
O=EsIt AIEEH]l X
20,000,000 *1IH 2=%50f% 10,000
== 3,000
Al 7,000
SN 3EH L3t 332,350 376,750 AN44,400
= 66,470
Al 265,880
307 elztol & 332,350 376,750 N44,400
= 66,470
Al 265,880
02 2B YAIHE A 332,350 376,750 N44,400
Od3e=AE B2
7,500 %72, 200kg *50% 270,750
== 54,150
Al 216,600
o2d U YsK
22,0002 %5,600:2 *50% 61,600
= 12,320
Al 49,280
&S IR SHEt 46,500 43,500 3,000
=S 13,950
Al 32,550
402 2I2F X201 & 46,500 43,500 3,000
< 13,950
Al 32,550
02 QI TH2AILEE (01X THE) 46,500 43,500 3,000
oL MaS HoIEH X
3,000,000 *31CH*50% 46,500
= 13,950
Al 32,550
st sAH=H 2 6,600 6,000 600
=S 1,980
Al 4,620
206 M=Hl 6,600 6,000 600
== 1,980
Al 4,620
01 M= H| 6.600 6,000 600
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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 60,480 0 60,480
| 30,240
= 9,072
Al 21,168
02 QIZHBAAIEER 60,480 0 60,480
OS+0iYY U A Doyl
400, 000& x25272 +60% 60,480
| 30,240
= 9,072
Al 21,168
SMERS L UHHOY J|IBES 662,937 649,432 13,505
= 121,650
| 10,080
& 131,820
Al 399,387
EAHE HACOP AL El X2 (M AFEHA]) 17,640 35,000 217,360
J| 10,080
= 2,268
Al 5,292
307 212+01 A 17,640 35,000 A17,360
| 10,080
= 2,268
Al 5,292
02 QIR &A= 17,640 35,000 A17,360
OFAIZ & & (HACCP) AR (700 A)
3,600,000 *7IH 2 *70% 17,640
| 10,080
T 2,268
Al 5,292
YU SAMSIAMLAIA 292 X2 3,100 3,100 0
= 1,550
= 1,550
301 LPENSZ 3,100 3,100 0
= 1,550
= 1,550
14 J|EI2 43 3,100 3,100 0
OYUSAMSAMIAIA 2GHIXA
50,0003 623 3,100
= 1,550
& 1,550
A0S (HEREH] X&) 115,200 170,049 A54,849
= 57,600
= 17,280
Al 40,320
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301 EtE NS 115,200 170,049 AB4,849
= 57,600
== 17,280
Al 40,320
14 JIEt2 = 115,200 170,049 AB4,849
OADII0IAM (A EREH| X&)
115,200,000 115,200
= 57,600
== 17,280
Al 40,320
HALE & XMeldlg X 130,000 130,000 0
= 26,000
Al 104,000
307 elztol & 130,000 130,000 0
= 26,000
Al 104,000
05 212+ =S 130,000 130,000 0
OHIA 2~ XMel XI& 250,000 *520% 130,000
=S 26,000
Al 104,000
=N SU=HUES 24 26,000 30,000 24,000
307 212+01& 26,000 30,000 24,000
04 QIZHHAIAIRH 2 X 26,000 30,000 24,000
OBEMYEH SNBBHE S 29
26,000,000 * 100 2 26,000
HAF = XMel X3AS 75,000 75,000 0
307 el2to| & 75,000 75,000
05 212t =S 75,000 75,000
OHlIAt= Meldl X
250,000& %3000t2| 75,000
SHE AMYL A=UHF N 9,600 12,000 2,400
206 M=l 9,600 12,000 A2,400
01 MHZHI 9,600 12,000 22,400
OF¢s P a A=243 X
6,0002!+1,600E8 9,600
SASEHE OHY 4,320 5,400 A1,080
201 Ler23| 4,320 5,400 A1,080
03 A= SHI 4,320 5,400 1,080
O=4= 24| 5,0002 864 4,320
=2 RSYEA AWEHD| K& 3,000 13,000 10,000
402 2I2F X201 & 3,000 13,000 10,000
01 BRI S A S E X (XM THR) 3,000 13,000 10,000
OFME RS AMEFI| X 3,000
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Ciel: SASRE U U400 JlnEE (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 900
Al 4,500
02 QI X2 AL EE(0IETHE) 5,400 5,400 0
OUSBIZAIE Tisls RE HH|
9,000,000 *17H 2 +60% 5,400
= 900
Al 4,500
LAY AT S LA B2 2,102 3,125 ~1,023
== 482
Al 1,620
307 212+01& 2,102 3,125 A1,023
< 482
Al 1,620
02 LB HAHE L 2,102 3,125 1,023
OLAOLQI pHoLE U BATY 22
2,102,000& 2,102
= 482
Al 1,620
=20 wH Pl X 4,320 0 4,320
== 720
Al 3,600
402 2I2E X201 & 4,320 0 4,320
< 720
Al 3,600
02 QIZHXHZ2 AL E (01X THE) 4,320 0 4,320
O=S016 WH 7L N
7,200,000 *1CH+60% 4,320
= 720
Al 3,600
W8 Kol 01=F ZL& X2 21,440 24,000 A2,560
s 4,020
Al 17,420
301 EtE NS 21,440 24,000 2,560
[ 4,020
Al 17,420
14 JIEt2 8= 21,440 24,000 22,560
OU+e S8 0iF 28 X
3,200&#6,700kg 21,440
= 4,020
Al 17,420
Zletd 0l Rethl 2oy SA=adl X3 10,500 11,813 21,313
=S 1,500
Al 9,000
307 21201 & 10,500 11,813 1,313
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,500
Al 9,000
02 2IZHB A E £ 10,500 11,813 A1,313
XS DITBAN LOIF EX7UH X
5,000, 0002 *39H 2 +70% 10,500
= 1,500
Al 9,000
L=HAE Ao HHl A2 EH 9,720 9,720 0
== 2,430
Al 7,290
402 2I2E X201 & 9,720 9,720 0
S 2,430
Al 7,290
02 QI X2 AL EE(OIHTHE) 9,720 9,720 0
OUIARSAR FAISH ChYl Al ZH]
8,100,000 *2H 2 +60% 9,720
= 2,430
Al 7,290
SAIE QHMAIE M (HEALY) 10,000 10,000 0
== 5,000
Al 5,000
402 2I2E X201 & 10,000 10,000 0
[ 5,000
Al 5,000
02 QIZHXHZ2 AL E (01X THE) 10,000 10,000 0
OSAIE QHMAIE WA (EHEALL)
10,000,000 * 170 & 10,000
= 5,000
Al 5,000
FOIBAS 2N K& 11,668 12,408 AT40
s 3,500
Al 8,168
307 @I2t01 & 11,668 12,408 AT40
[ 3,500
Al 8,168
02 2B HAHE L 11,668 12,408 AT40
O==tDISAZEEN K&
9,723,000 *29H 2 +60% 11,668
= 3,500
Al 8,168
FASEMKEHAl X=EHS 630 700 AT0
201 fet= 3| 630 700 AT0
01 AtR2t2lHl 630 700 AT0
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Ciel: SASRE U U400 JlnEE (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAHSALTIEA NSES
70,0003 x9N 630
SYHHEXN S 840 1,050 ~210
201 er=23y| 840 1,050 A210
01 AtR2t2|HI 840 1,080 A210
(O =GR PNESS 70,0002 = 129K 840
W8 elsitetd X2t 9,100 9,100 0
401 A2 HIRL R 0HbI 9,100 9,100
01 Al&HI 9,100 9,100
OL+0! QIZMRE SX22
9,100,000& 9,100
W8 o JH=E= 125,000 0 125,000
= 62,500
< 18,750
Al 43,750
403 XM SAH=01H 125,000 0 125,000
= 62,500
== 18,750
Al 43,750
02 SO 2S0ItH et =& 2 €A | 125,000 0 125,000
OUI%D 0E W24 ARl
125,000,000 * 104 2~ 125,000
= 62,500
s 18,750
Al 43,750
=gy 8,655,298 6,241,862 2,413,436
= 3,827,755
Il 408,312
= 785,940
Al 3,633,291
SMNESEM 29 73,062 73,062 0
= 36,531
< 10,959
Al 25,572
301 EtE NS 73,062 73,062 0
= 36,531
== 10,959
Al 25,572
14 JIEt2 = 73,062 73,062 0
OFMILSEM S L=AH
9,900& *1,230CH + 122 +50% 73,062
= 36,531
== 10,959
Al 25,572




SH: &

A
M Ep
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el Ot ; i (Sl & J)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
=== AL & D|ME 2H 863, 161 915,324 N52,163
= 495,076
Al 368,085

206 =4I 721,801 774,204 A52,403
= 424,3%
Al 297,406

01 M=4l 721,801 774,204 A52,403

OII=F0EFAL & JHE A

721,801,000 721,801
= 424,39%
Al 297,405

307 212t01™ 141,360 141,120 240
= 70,680
Al 70,680

02 QB EANGE X 141,360 141,120 240

OSHXIM B0 A SHAIX 2

2,00084%117,8005*60% 141,360
= 70,680
Al 70,680

B2 Hety HEEFEHI(=4]) 165,000 141,000 24,000
= 49,500
Al 115,500

301 LEIE NS 165,000 141,000 24,000
= 49,500
Al 115,500

14 DBt 2 a3 165,000 141,000 24,000
OiERuRlY L T HE - 2
15,000& 11,0005 165,000
= 49,500
Al 115,500
HAAELHEE XNEXJA 6,000 9,000 23,000
2 3,000
Al 3,000
307 212t01 & 6,000 9,000 A3,000
= 3,000
Al 3,000
02 QI EANEE X 6,000 9,000 23,000
OHNLDLTE NEK AL
10,000,000 15 +60% 6,000
= 3,000
Al 3,000
M=z 2= N 2,665,000 1,000,000 1,665,000
= 2,132,000
= 266,500




SA: EUD
B B0AW Ys)
CHel: Dy EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 266,500
301 22N = 2,665,000 1,000,000 1,665,000
= 2,132,000
= 266,500
Al 266,500
14 DBt 2 a=S 2,665,000 1,000,000 1,665,000
axz 243 X 2,665,000,000& 2,665,000
= 2,132,000
& 266,500
Al 266,500
& A=) SSYH XA 64,000 64,000 0
= 32,000
Al 32,000
307 gl2tol & 64,000 64,000 0
= 32,000
Al 32,000
02 QA HAEE X 64,000 64,000 0
OHNED| SSEH XA
20,000,000 *4=+80% 64,000
= 32,000
Al 32,000
SSHNE =22 344,960 343,236 1,724
Il 172,480
< 17,934
Al 154,546
301 EtE NS 344,960 343,236 1,724
J| 172,480
== 17,934
Al 154,546
4 JIE2 8= 344,960 343,236 1,724
O3S YRNE Q12| 179,340,000 179,340
Il 89,670
=S 17,934
Al 71,736
OZsYNE 28l 165,620,000 165,620
Il 82,810
Al 82,810
THEHSES 23tAr 169,100 134,500 34,600
= 42,275
Al 126,825
301 LeEN= 169,100 134,500 34,600
S 42,275
Al 126,825




2A:

X XH -
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S
Wz rz
0z oY &
19 02
J@
o
ol

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 169,100 134,500 34,600
OgA ZEHIE 5,00021+6,0005 30,000
= 7,500
Al 22,500
OB S4=0) wWaly|
1,000& 35,0005 35,000
== 8,750
Al 26,250
OuESAI=HI 5,000& 13,0005 65,000
= 16,250
Al 48,750
OB asIt HAXE
1,700 %46, 0005 +50% 39,100
s 9,775
Al 29,325
XFUSFAL} & 185,617 255,976 AT70,359
& 55,685
Al 129,932
206 MH=H| 46,400 40,054 6,346
= 13,920
Al 32,480
01 MZH| 46,400 40,054 6,346
OXcl Al 0g SEHH 26,400,000 26,400
= 7,920
Al 18,480
ONEHE ARAUSIAL BHAIXSA
20,000,000 20,000
< 6,000
Al 14,000
301 EtE N = 139,217 215,922 AT6,705
= 41,765
Al 97,452
14 JIEt2 a3 139,217 215,922 AT6,705
OAl SXIJIH XI# 139,217,000 139,217
=S 41,765
Al 97,452
JEEgA|gtas 212,167 226,500 14,333
< 49,250
Al 162,917
206 M=l 30,667 45,000 14,333
= 9,200
Al 21,467
01 MZH| 30,667 45,000 14,333
OA=sE S 78 13,0002 2, 359kg 30,667




A St
B B0AW Ys)
ST (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 9,200
Al 21,467
301 LPENZ 144,000 144,000 0
& 28,800
Al 115,200
14 J|EtE A2 144,000 144,000 0
OZ=2AF HH &=l K&
1,000,000 =128+ 12& 144,000
& 28,800
Al 115,200
402 QI2E X201 ™ 37,500 37,500 0
& 11,250
Al 26,250
02 QIZHRHZAFI 2 X (0IF TH) 37,500 37,500 0
O=HEUR NELSI| X
5,000,000 *15Z *50% 37,500
& 11,250
Al 26,250
FR I=EHEY 2H 177,351 232,285 AB4,934
= 53,205
Al 124,146
206 =6l 156,651 155,885 766
T 46,99%
Al 109,656
01 =l 156,651 155,885 766
o= MY HlZALS 19,725,000 19,725
& 5,917
Al 13,808
O HEH OlLAr 26,740,000 26,740
& 8,022
Al 18,718
o= MY HlZAIS 36,000,0002 36,000
& 10,800
Al 25,200
Oga 25018 WYY ==
10,6003 *1,8005 19,080
T 5,724
Al 13,356
ORA RYE olgeial XA
7, 7002 %23]*1,8905 29,106
& 8,732
Al 20,374
OSO0HA HAY =FHSAH XA
80,0003 x32655F 26,000
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B B0AW Ys)
chel:r JiEgd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,800
Al 18,200
307 elztol & 20,700 76,400 255,700
= 6,210
Al 14,490
02 2B YA AR A 20,700 76,400 A\55,700
ORAHAIFON H4E X
15,0003 %2, 3005 +60% 20,700
== 6.210
Al 14,490
YA 399,942 482,5% A\82,654
206 MH=HI 382,942 457,861 AT4,919
01 MHZH| 382,942 457,861 NT4,919
OQIIELHE 52 382,942
OdtetH g3 1432+300,000== 42,900
OSO0HIEAE Hlges
4,000 x22,5000t2] 90,000
O4 AlFEsIt 280 B8
2,000&x17,0000t2! 34,000
OBEFHAS(28) 2,0002+30,000& 60,000
OFH L= 10&%5,500, 0004 55,000
OHHXI PRRS Gl S
2,000&x22,0000t2! 44,000
OJtssIt HASZH X2
25,0002 *1,600kg 40,000
OAts F1&M & 2285 XNIE
5,500&1,0000}2| %23 11,000
OZx 28018 IZAE
10,600& +5700t2| 6,042
307 elztol & 13,000 18,735 Ab,735
02 2IZHB A E £ 13,000 18,735 N5, 735
O A HEAIH 10031 %260, 000 *50% 13,000
402 2IZtA=01d 4,000 6,000 /2,000
01 QI X2 AL E (K THE) 4,000 6,000 A2,000
OJ=g9 013y S8EER
800, 0002 *10CH*50f% 4,000
JE&EE oY 177,520 174,695 2,825
201 2= 55,600 59,775 A4 TS
01 At22t2lH] 43,420 47,59 A4 75
O +o & 2HE M=
70,0002 *90H 6,300
OIJtELSLX MH
4,000 *2, 000590% 7,200
ootsgYdd g2=
200 *5,0000H *22] *90% 1,800
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJ=EAMAML 28 € SI)Igxtz
380,000 #53] 1,900
OZBOIZ2AR o PHS gt 2|
8,000 x4 190! 6,080
OgdxAa A=) 228 2H 014 213
Bl 95,000 *129HE 1,140
O%=E S g & M7 AKX
4,750,000 *42] 19,000
02 S3=gHl 12,180 12,180 0
ogHA=dHl 7l
3,000,000 *2CH 6,000
oty S Stie=
5,000 *3CH = 1204 180
OJt=g4 LTV SAR3
100,000& 50 A+ 1200 2 6,000
206 MH=H| 121,920 114,920 7,000
01 M=4l 121,920 114,920 7,000
OF NS o AlE FA|
80 %62,0000t2| %22 9,920
OAlL,HES YHL5AE & =3
16,0002 *x350kg*202] 112,000
=g 24 68,520 80,520 212,000
201 et23| 4,320 4,320 0
02 S3=gl 4,320 4,320 0
O3s+2At S ol 2SI
240,000+ 18 4,320
206 M=l 19,400 19,400
01 M= HI 19,400 19,400
OII=HPES X2 A4S
15,000& »1200t2| 1,800
OAE=4detd HAS 2=
8,0003%2,200% 17,600
301 EtE2 NS 24,800 36,800 A12,000
14 0Bt 243 24,800 36,800 212,000
AXEE AUUFLLE
20,0002 =500t 1,000
M2 BIIIRAY
70,000& *402] 2,800
OdgdAE FRULYES N=2d=
3,000&7,0000t2! 21,000
307 @12to| & 20,000 20,000
05 git?(& = 20,000 20,000
O&dx=z e Xeld
250,000 +800t e 20,000
SSAFYA 2E 10,460 10,460 0
201 er23 | 7,580 7,580
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&9l JEEES (e & )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 7,580 7,580 0
OBEYALAN 22T S=)
190,000 x2&H 380
O3S A sAUUE
300,000 x2&* 1204 7,200
202 04| 2,880 2,880
01 =LHOLI 2,880 2,880
O=sLA+2At J1201b]
20,0002 2 +62* 12042 2,880
g4 Jalde JIEXH 9,000 10,000 A1,000
206 Tl 9,000 10,000 A1,000
01 HEH 9,000 10,000 21,000
CEPSEINESIEE]=
5,000& *2,0000t2/+90% 9,000
2 ORJHEHUIE Gl AL 26,700 53,375 N26,675
206 M2l 26,700 53,375 126,675
01 =l 26,700 53,375 126,675
OAOMHHAE clor
2,670 10,0000t 26,700
SHEA & HELSA 94| 100,926 100,926
307 elzto| & 100,926 100,926
05 21t =S 100,926 100,926
OAl.THIY HBASA 8|
120, 1503 304 A x2H #23| x 70 100,926
HBHMHE ASAE 2 13,800 13,800
201 fet=3| 13,800 13,800
02 s3=gHl 13,800 13,800
(OFSPIETE= 500,000& * 1290 2 6,000
oOx==R=3 100,000& 12042 1,200
OFA2H HA 23
100,000& * 12043 1,200
OA~=AIE 78I 5,400,000 14 2 5,400
EUMUEl JIE AL HIE XZ AL 180,192 24,752 155,440
Jl 90,096
= 27,029
Al 63,067
301 EetE2 N = 180,192 24,752 185,440
Il 90,096
= 27,029
Al 63,067
14 DBt 2 a=S 180,192 24,752 155,440
OZYUMIUH| IISASHE XA
180,192,000 180,192
Jl 90,096
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&9l JEEES (e & )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 27,029
Al 63,067
SAAME GPS S| HAIEE SEMH 2= 15,600 22,800 27,200
= 7,800
< 2,340
Al 5,460
301 EtE NS 15,600 22,800 AT7,200
= 7,800
== 2,340
Al 5,460
14 JIEt2 8= 15,600 22,800 AT7,200
OFAXIY PSCHY 23TH 2
= 60,0002 »260CH 15,600
= 7,800
== 2,340
Al 5,460
JIEEY XISEE AIEAY 210,000 210,000 0
= 63,000
Al 147,000
301 LEtE NS 210,000 210,000 0
= 63,000
Al 147,000
14 JIEt 2 a3 210,000 210,000 0
OII=ZEIEEE 210,000,000 210,000
= 63,000
Al 147,000
SHz22E 2 2SHISK 415,800 291,000 124,800
= 207,900
Al 207,900
307 glztol & 415,800 291,000 124,800
= 207,900
Al 207,900
05 21t =S 415,800 291,000 124,800
osHz=A2E &
415,800,000 415,800
= 207,900
Al 207,900
THIS AL XA (=) 865,712 896,782 231,070
= 513,541
= 39,121
Al 313,080
206 M=l 173,609 254,682 A\81,073
= 116,030
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chel:r JiEgd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 57,579
01 M=4l 173,609 254,682 /81,073
OF NS oleeal =2 144,729,000 144,729
= 101,590
Al 43,139
OFHS HgES 23 XA
28,880,000 28,880
= 14,440
Al 14,440
301 EtE2 NS 347,806 350,000 N2,195
= 156,502
= 39,121
Al 162,182
14 IIEt2 83 347,805 350,000 N2,195
OFHS HLES A=
6,000 24,8595 149,1%4
= 74,577
= 22,373
Al 52,204
OZ4 Z=H| & ESAl=Hl X
111,651,0002 111,651
= 55,825
= 16,748
Al 39,078
O4 M EF0Z MEl Xa
10,0002 +8, 7005 87,000
= 26,100
Al 60,900
307 lztol & 344,298 292,100 52,198
= 241,009
Al 103,289
02 2B YA E X 344,298 292,100 52,198
OFHS ogemal X3 344,298,000& 344,298
= 241,009
Al 103,289
v S &aelzet X2 171,472 165,690 5,782
Il 85,736
= 25,721
Al 60,015
402 2IZtA=01d 171,472 165,690 5,782
) 85,736
& 25,721
Al 60,015
02 QI X2 AL E (01X THE) 171,472 165,690 5,782
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chel:r JiEgd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OV & ggeizet A&
285,786, 0002 *60% 171,472
Jl 85,736
< 25,721
Al 60,015
OLZCIDtHXIEE MlEAS 58,464 24,783 33,681
= 17,539
Al 40,925
201 er23y| 22,000 0 22,000
= 6,600
Al 15,400
01 Al 22| 22,000 0 22,000
OOLZRI3tE IS JIIA SEATY)
379,300 *58= 22,000
< 6,600
Al 15,400
206 M=l 26,464 24,783 1,681
= 7,939
Al 18,525
01 MZH| 26,464 24,783 1,681
OOIZ2ISIHTIZE GIAIE
26,464,000 26,464
=S 7,939
Al 18,525
402 212 X201 & 10,000 0 10,000
< 3,000
Al 7,000
02 QI X2 AL EE(OIHTHE) 10,000 0 10,000
OYd=sT ASFESHAIE 2l
10,000, 0003 x2S *50f% 10,000
= 3,000
Al 7,000
HE MH - ASAE 28] X (<H]) 37,800 45,000 AT,200
== 11,340
Al 26,460
201 =3 22,500 22,500 0
< 6,750
Al 15,750
2 352484l 22,500 22,500 0
OASAIE 2| 7,500,000 *37H 2 22,500
= 6,750
Al 15,750
206 MH=H| 15,300 22,500 AT,200
=S 4,590
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&9l JEEES (e & )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,710
01 M=4l 15,300 22,500 AT7,200
OA~SAE AZ2FHI
5,100,000 *37H 2= 15,300
== 4,590
Al 10,710
Al B & B A XA 5,614 25,000 19,386
= 2,807
== 842
Al 1,965
301 2= 5,614 25,000 19,386
= 2,807
= 842
Al 1,965
14 JIEt2a3 5,614 25,000 219,386
OAl & ZAZ Al XA 5,614,000 5,614
= 2,807
= 842
Al 1,965
A2SE M= N 42,857 0 42,857
Il 30,000
Al 12,857
301 22N 42,857 0 42,857
7l 30,000
Al 12,857
4 IIEt2 8= 42,857 0 42,857
OxSotdX= A& 42,857,000 42,857
Jl 30,000
Al 12,857
AAHHE = X 42,857 0 42,857
Jl 30,000
Al 12,857
301 Eet2 NS 42,857 0 42,857
Jl 30,000
Al 12,857
14 JIEt2d = 42,857 0 42,857
OodAtEX= K& 42,857,000 42,857
Jl 30,000
Al 12,857
=Y A=E8S N2 73,444 73,444
101 @124H| 73,444 73,444
04 JIZtNZ22 NS+ 73,444 73,444
o=gy A=52s N& 73,444
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chel:r JiEgd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
@)uFal:] 85,0702 x4 H 262 7 61,931
Oxgae=g 127,605 x4 & +8L 4,084
Oo=egs 66,014, 1202 +4. 5% 2,97
OH3=EE 66,014, 1202 x3.545% 2,341
OFIIRYEE= 2,341,0002*12.81% 300
OunE:es 66,014, 1202 %1.75% 1,156
O4t=Ee 66,014, 1202 * 1% 661
HBHMH, ASAE £X 288,000 288,000
= 144,000
= 43,200
Al 100,800
401 AIZHIX S0HH 288,000 288,000
= 144,000
= 43,200
Al 100,800
01 Al&H| 288,000 288,000
O=0] HEAMH, A=A AREXI(2IEE
) 288,000,000 288,000
= 144,000
= 43,200
Al 100,800
2 dYsIE FHS BAUES 2eld 108,000 108,000
301 LEtE N = 108,000 108,000
14 DBt 2 a3 108,000 108,000
O4 LSt S HLESAl=HI
6,000 18,0005 +50%*22] 108,000
HEMZH, 2=AE XX (2K 400,000 400,000
= 200,000
= 60,000
Al 140,000
401 Al HIZ S OHbI 400,000 400,000
= 200,000
= 60,000
Al 140,000
01 AlZH| 400,000 400,000
ONE N, ASAIE &XI(2X) 400,000
O£ 46,000,000& 46,000
= 23,000
= 6,900
Al 16,100
ONHE N, ASAIE &XI(2X)
354,000,000 364,000
= 177,000
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Sl D=y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 53,100
Al 123,900
a0t dael X3 7,200 0 7,200
= 3,600
Al 3,600
307 gl2to| & 7,200 0 7,200
= 3,600
Al 3,600
02 QB HANEER 7,200 0 7,200
ogssIt 282l X#
4,000,000 *3=+6(0% 7,200
= 3,600
Al 3,600
oA 2t 3,562,753 3,778,001 N215,248
Jl 370,000
[ 500,937
Al 2,691,816
BV = PN 977,200 864,004 113,196
Il 333,000
== 193,260
Al 450,940
301 22N = 977,200 864,004 113,196
Jl 333,000
= 193,260
Al 450,940
14 0Bt 2a3 977,200 864,004 113,196
OZXALZ ArelXl HMIZH| XIS
900,000,000 900,000
7l 300,000
= 180,000
Al 420,000
OAMEXHE SAH X2 77,200,000 77,200
Jl 33,000
= 13,260
Al 30,940
AEEH=E A 218,600 220,800 A2,200
== 43,700
Al 174,900
301 22N = 218,600 220,800 22,200
< 43,700
Al 174,900
14 IIEt2 8= 218,600 220,800 2,200
OAIZRHE MAHXIR (216na)
218,600,000& 218,600
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B SMAW Ys)
Rl a2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 43,700
Al 174,900
TAE M EHl X 112,000 56,000 56,000
Il 28,000
< 25,200
Al 58,800
402 QI2F X201 & 112,000 56,000 56,000
Il 28,000
== 25,200
Al 58,800
02 2IIHZ AN 2 X (01 TR 112,000 56,000 56,000
OZAZHYH T X2
280,000,000 * 1IH 2 *40% 112,000
Il 28,000
== 25,200
Al 58,800
IANE =EH X3 150,000 127,200 22,800
= 45,000
Al 105,000
402 QI>F X201 & 150,000 127,200 22,800
= 45,000
Al 105,000
02 QI X2 AL E R (01X THE) 150,000 127,200 22,800
OZX Atz ==&l Xd
300,000, 0002 *1JH 2= +50% 150,000
s 45,000
Al 105,000
SEAE ZEW X2 52,350 53,200 A850
S 16,700
Al 36,650
307 glztol & 52,350 53,200 A850
= 15,700
Al 36,650
02 2IZHBYAIAE & 52,350 53,200 850
OE& A= L XI&(374,00001 /2008 )
52,350,000 52,350
=S 16,700
Al 36,650
HEXMeldl(Hle) X 77,340 85,850 28,510
< 23,200
Al 54,140
307 lztol & 77,340 85,850 28,510
= 23,200
Al 54,140
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Rl a2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 77,340 85,850 A\8,510
OHEXM2IBI(BIL)XIA(1,8202 /858 A )
77,340,000& 77,340
= 23,200
Al 54,140
HEXMeHI(HIE) X2 (X)) 126,000 120,000 6,000
307 21201 & 126,000 120,000 6,000
02 QB HANEER 126,000 120,000 6,000
OHEHRIY X2 (2,942 /85721
126,000,000 126,000
=X XN&g=s WA 1,235 2,470 AN1,235
201 er23 | 1,235 2,470 AN1,235
01 At2teltl 1,235 2,470 A1,235
O=X DAIESD NEEH M=
650,000 *3.8na*50% 1,235
IIEELHeFH(AIIERH) B2 45,000 60,000 /15,000
s 13,500
Al 31,500
402 2I2F X201 & 45,000 60,000 /15,000
[ 13,500
Al 31,500
02 QI X2 AL EE (01X THE) 45,000 60,000 15,000
ONEEL AJ =20 X
30,000, 0002 *3CH*50% 45,000
= 13,500
Al 31,500
JIEER 1&ds - AX0] NE 77,000 0 77,000
=S 23,100
Al 53,900
402 2I2F X201 & 77,000 0 77,000
< 23,100
Al 53,900
02 QI TH2AILEE (01X THE) 77,000 0 77,000
OJtE2E sS40 NF
77,000,000 *27H 2= +50% 77,000
= 23,100
Al 53,900
ZEE FAAIL - ZH 238(&Hl) 230,000 240,000 10,000
=S 46,000
Al 184,000
402 2I2F X201 & 230,000 240,000 10,000
== 46,000
Al 184,000
02 QI TH2AILEE (01X THE) 230,000 240,000 10,000
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s a2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEH SUAL - ZH B2
4,000,000& *115Z+50% 230,000
= 46,000
Al 184,000
IR JI=8s HSAE K& 72,000 80,000 /8,000
== 21,600
Al 50,400
402 2I2E X201 & 72,000 80,000 28,000
[ 21,600
Al 50,400
02 QI X2 AL EE(OIHTHE) 72,000 80,000 28,000
OJt= D=8l WSAIE XN
18,000, 0002 *8S *50f% 72,000
= 21,600
Al 50,400
& EHl 2S5 F&A XA (<HI) 9,308 10,277 2969
s 2,793
Al 6,515
307 212+01& 9,308 10,277 A969
[ 2,793
Al 6,515
02 IHB A HE L 9,308 10,277 A969
OEHl 25 =&M XA (1HA)
9,308,000& 9,308
= 2,793
Al 6.515
sEtd desit |4 17,400 24,420 AT,020
=S 5,220
Al 12,180
301 LEtE NS 17,400 24,420 AT7,020
< 5,220
Al 12,180
14 JIEt2 8= 17,400 24,420 AT7,020
O dE=It |4(405)
600,000& x290H 17,400
= 5,220
Al 12,180
IIEERAE AINEZ2H KA 270,000 300,000 A30,000
402 2IZtA=01d 270,000 300,000 30,000
01 QI XHE AL E R (KM TH) 270,000 300,000 /30,000
OJEERXMel AJ=E20 A
30,000,000 *18CH*50% 270,000
JIEERXel EdaRI] K& 60,000 100,000 240,000
402 BIZtAH=01 A 60,000 100,000 240,000
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&Pl SoHAHE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 BIREXHEAIY B E (AR ) 60,000 100,000 40,000
OJES LR HHAEI| X
10,000, 0002 * 12CH*50f% 60,000
ZletBE4 AIEEH 22 90,000 75,000 15,000
402 2IZtA=01A 90,000 75,000 15,000
01 2IIXHZ AN X (R 90,000 75,000 15,000
OUBIEL AEEY 23
4,000,000 *45= *50% 90,000
=E2eXel =2X2EH X 369,000 414,000 /45,000
307 glztol & 369,000 414,000 /45,000
02 LB HAHE L 369,000 414,000 245,000
OJt=E2EXe =22 &M N3
3,000, 000& *410=+30% 369,000
gEHl ¢ FAN X2 36,000 45,000 29,000
307 gl2to| & 36,000 45,000 /9,000
02 2B YAIHE A 36,000 45,000 29,000
O&dl ¢E=8H X2
1,200,000 *60= #50% 36,000
IESR & - AdlazH K& 18,000 24,000 26,000
7l 9,000
= 4,500
Al 4,500
301 Eet2 NS 18,000 24,000 26,000
Il 9,000
= 4,500
Al 4,500
14 DBt 2 a3 18,000 24,000 26,000
OE|H[&ZH| XA 200, 0002 *90ha 18,000
Jl 9,000
= 4,500
Al 4,500
= HIAKH Mol K13 30,000 45,000 A 15,000
= 9,000
Al 21,000
402 2I2F X201 & 30,000 45,000 /15,000
== 9,000
Al 21,000
02 2IIHE AN 2 X (01 TR 30,000 45,000 15,000
OIFEHATAM2I| X
30,000,000 *2CH*50% 30,000
= 9,000
Al 21,000
&= AHINEX JIERR €5 AE 32,400 38,160 A5, 760
= 9,720




SA e
B SMAW Ys)
Rl a2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 22,680
307 gl2tol & 32,400 38,160 A5, 760
=S 9,720
Al 22,680
02 QB AANSEER 32,400 38,160 Ab,760
OMHIMEE =2 L5H X2
1,200,000 457 | x60f% 32,400
< 9,720
Al 22,680
IIEYAR X2 (=Hl) 75,000 83,000 /8,000
= 13,300
Al 61,700
307 @20l & 75,000 83,000 /8,000
=S 13,300
Al 61,700
02 QB AANEER 75,000 83,000 28,000
OJI=dzM X3 2,000,000 *75=+50% 75,000
< 13,300
Al 61,700
IIEMAH XI& (XA 208,000 260,000 /52,000
307 lztol & 208,000 260,000 A52,000
02 2B YA HE X 208,000 260,000 /52,000
ONEUTH K
2,000, 0002 *208= *50% 208,000
SMFGEER B=(=Hl) 30,720 33,600 2,880
s 6,144
Al 24,576
201 et 3| 30,720 33,600 A2,880
& 6,144
Al 24,576
01 At2t2lt] 30,720 33,600 22,880
OBMTY LN 22
8,000& x320S * 128 30,720
= 6,144
Al 24,576
SMBGEHBX B=2(AHHl) 7,200 14,400 AT,200
201 fet= 3| 7,200 14,400 AT,200
01 AtR2t2|HI 7,200 14,400 AT7,200
OFNEg 21X 25
8,000& x150=* 123 »50% 7,200
WARE s=HEAS K 150,000 150,000 0
301 LEIE NS 150,000 150,000
14 JIEt2d=3 150,000 150,000




2A:
X XH -
o e

=aak

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

OWL=ZL =)HHIE K&

10,000&*15,000&

150,000

T
Ml
I
0
=
>
oV
=
=
o

21,000

21,000

21,000

21,000

70,000 *3005

21,000

21,000

21,000

Mo

=

1,972,687
123,655
155,938

1,693,094

5,835,3%

A3,862,709

S~
o
IH0
oy
B
Ho
ol
==
0
P}
0

Mo

=

35,350
10,605

7,423
17,322

31,850

3,500

o

=

2,800
840
588

1,372

2,800

01 AtR2telbl

oRrJlsE A=

70,0003 405

hoH

=

2,800
2,800
840
588
1,372

2,800

206 =4I

hoH

32,550
9,765
6,835

15,950

29,050

3,500

01 M=4l

oRlls= Mz A2

70,0002 4655

mhoH

=

32,550

32,550
9,765
6,835

15,950

29,050

3,500

S
O
Mo
e
02
==
0o
i
o

hoH

=

57,300
28,650

8,59
20,055

60,000

A2,700

Mo

57,300
28,650

8,59
20,055

60,000

A2,700

14 JIEtE 4t

HI
>.

0
oy

57,300

60,000

A2,700




SN B
M EAABE 25
&t =225 & =X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CESIEEENEWAE
250, 0002 *3825 +60%% 57,300
= 28,650
= 8,5%
Al 20,055
SSESHE (=) 133,200 153,000 19,800
= 26,640
Al 106,560
201 Lpre | 109, 150 124,000 A 14,850
= 21,830
Al 87,320
01 ARzl 54,000 54,000 0
CEIEIES=1t] 4,000,00024* 122 48,000
[ 9,600
Al 38,400
oAl ¢ AR 400,0002* 122 4,800
= 960
Al 3,840
ONREE U A2F 3¢
10,0002+ 122 1,200
= 240
Al 960
02 22| 55, 150 70,000 A 14,850
oUtHE2ESMEH 2112
11,400,000 *14! 11,400
= 2,280
Al 9,120
o= 2 HIIE Heltl
21,750,000 *1 4! 21,750
= 4,350
Al 17,400
OAE=YISXIb| 500, 000!+ 122 6,000
= 1,200
Al 4,800
OXZ SN 1,000,0002* 1224 12,000
= 2,400
Al 9,600
OB 2 2,000,002 23 4,000
= 800
Al 3,200
206 T2 H 24,050 29,000 ~4,950
= 4,810
Al 19,240
01 M2t 24,050 29,000 4,950




SA e
3 sMFYH 29
&t =225 & =X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF5E2 Az ¥ =5
2,500,000 6 15,000
= 3,000
Al 12,000
O0B5E2 HAMLSE
3,100,000& *14] 3,100
S 620
Al 2,480
o2 & YA=ES
3,100,000 *14] 3,100
= 620
Al 2,480
o3 & AZAZE 475,000 ~6& 2,850
== 570
Al 2,280
tlolss E3dlH 29 8,296 9,840 A1,544
201 er2 3| 3.4% 3,840 N344
01 At2tlt] 3,4% 3,840 N344
Oul=H| 3,09
ogsets 100,000 *11&%90% 990
oxg= 90,0002 x 112 %23 %x90% 1,782
=2l At Jt2 90,0002 x2E *23| *90% 324
O3 FH+E 100,000& »2& =22 400
401 Al HIZ 2018 4,800 6,000 21,200
01 Al&H| 4,800 6,000 1,200
OttesS=E3dE R+
400,000 12& 4,800
2020 SHEAIY XA (=4I) 422,000 375,800 46,200
= 84,400
= 101,280
Al 236,320
301 LEtE N = 422,000 375,800 46,200
= 84,400
= 101,280
Al 236,320
14 IIEt2 83 422,000 375,800 46,200
OZN0IS YA X
200,000&+2, 1105 422,000
= 84,400
== 101,280
Al 236,320
BiSE2SHH OI8AHY 1,048,680 4,804,400 N3,755,720
401 AlZHIZ 2018 1,048,680 4,804,400 N3,755,720
01 A28l 1,045,000 4,804,400 A3,759,400
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&t =225 & =X (EEEE))
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01 MZH| 2,700 3,000 A300
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